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(BFrv FDER)

2017 £ 3 A 15 H (K)

B4z B 42 e OUT | IN |GROSS| HDCP | NET
B BEH IFx AT 40 39 79 9.6/ 69.4
EER BEX & ot 44 42 86/ 15.6/ 70.4
3z |UFET A Yot 42 44 86/ 15.6/ 70.4
M NI B KSP 40 44 84/ 13.2/ 70.8
S F & A 43 46 89| 18.0/ 71.0
66 AR EBX KSP 44 38 82/ 10.8/ 71.2
M | ER EX ft A 4 4 82 10.8 71.2
8t K& =W J1)—2 P54 43 45 88 16.8 71.2
Of ot & =BE 42 39 81/ 9.6 71.4
1062 {EE & mEEIL 4 40 81 9.6/ 71.4
141 FEH KSP 45 40 85| 13.2/ 71.8
1261 BB EE =ZH 43 48 91 19.2] 71.8
13 & DB =5 41 44 85 13.2] 71.8
14461 F"H EA TRX 43 42 85 13.2] 71.8
1561 HiE E& LE 52 44 96/ 24.00 72.0
1661 | IUT T|H =E 44 45 89 16.8 72.2
17461 | EB A AA—=7 45 44 89 16.8 72.2
1862 | =F mEEIL 4 42 83 10.8 72.2
196  EF =X DYTA 42 47 89| 16.8/ 72.2
20 | #5 K FE{E Yot 49 45 94 21.6/ 72.4
21462 11l B AA—=7 46 48 94 21.6/ 72.4
2241 |{EBAHE IEEC =E 43 39 82 9.6/ 72.4
261 &HiE ®Z DYTA 42 40 82 9.6/ 72.4
2460 & FEA KSP 42 45 87 14.4 72.6
2561 | HEF - KSP 47 46 93| 20.4/ 72.6
26060 BRiE &= 1) —> P54 47 46 93| 20.4/ 72.6
21 | BRIR "X mEEIL 44 43 87 14.4 72.6
2861 BH BEX E—XYTHUR 42 45 87 14.4 72.6
2961 | KEE A4 YL 44 43 87/ 14.4/ 72.6
0z BT &HF =ZH 44 43 87/ 14.4/ 72.6
3L 1T & EDH 47 40 87 14.4 72.6
241 B R AL—=7 47 39 86/ 13.2| 72.8
3GL | &I B Yt 40 40 80| 7.2/ 72.8
AL Mk Ei Z gk 41 45 86/ 13.2| 72.8
354 |IBEH  NFE fitA 44 42 86/ 13.2] 72.8
364z HH FA ATl 46 40 86/ 13.2] 72.8
ML | BEAR  FIX ol 38 42 80| 7.2/ 72.8
8L HEE 1ERN B4 L 46 45 91 18.0/ 73.0
394 W95 —BH E—-XJ2H R 44 41 85 12.0/ 73.0
4061 HE 3 E—XY2HUR 40 45 85 12.0/ 73.0
P-1

Bz B 42 g OUT | IN | GROSS| HDCP | NET
N ER B/ ZH 46 44 90/ 16.8 73.2
26 =8 #A fit A 42 42 84 10.8 73.2
A3 BH FH E—XYTHU R 40 44 84 10.8 73.2
445 BRI #EA ;] 54 48 102 28.8/ 73.2
4541 |Filg FoFE = E 43 4 84/ 10.8/ 73.2
464 | KF &EF Yot 40 38 78 4.8 73.2
4165 &8 {8 Yot 49 46 95 21.6/ 73.4
4861 EZE HXE A4 47 48 95/ 21.6/ 73.4
4941 Bk &2 FEEEIL 52 48/ 100/ 26.4| 73.6
5061 |—i5 tAl Yt 43 39 82 8.4 73.6
5161 H¥ MR Zin]lgk 47 41 88 14.4/ 73.6
52 HBEEX #X AA—7 45 43 88 14.4/ 73.6
53 | =& A p| 3 48 46 94| 20.4/ 73.6
41 EIE f& 51)—>Pb4 45 43 88 14.4/ 73.6
554 GBK RA ool 44 43 87 13.2] 73.8
56 | EFH FEE EDH 49 50 99/ 25.2 73.8
574 B EER ool 42 39 81 7.2/ 73.8
58 | K#t A# 51— P54 51 42 93| 19.2/ 73.8
591 |BAE HF = E 40 4 81 7.2 73.8
606z | LA EA KSP 45 4 86/ 12.0 74.0
6142 | EH Fdh ft A 37 37 74 0.0 74.0
6247 |IUA {HEI Zin]lgk 45 41 86/ 12.0 74.0
63 |{BlR 1K = E 40 40 80, 6.0 74.0
644G HeF & = E 42 44 86 12.0/ 74.0
654 |alAt i KSP 49 42 91 16.8 74.2
666 MTH =H J1)—>2Pb54 44 4 85 10.8/ 74.2
676 MAR F+ IYTA 39 40 79 4.8 74.2
686 | BH FK KSP 48 42 90/ 15.6 74.4
694 | FH #if3 Yo+ 40 44 84 9.6/ 74.4
1062 %k BA Yot 47 43 90/ 15.6 74.4
L 8K 7 KSP 43 4 84 9.6/ 74.4
12461 Bl HFE = ATl 4 42 83 8.4 74.6
13 BER B=E =E 50 45 95 20.4 74.6
1AL (TH RE bt 42 47 89 14.4 74.6
1561 |#RIR  H#AD ik 44 51 95 20.4 74.6
164 |3FRE EBE ) 47 42 89 14.4 74.6
1161 GIH B8 ARA—=7 41 42 83 8.4/ 74.6
1861 Ik FIE A= 51 49 100/ 25.2| 74.8
1961 | KA Z8| Yot 43 51 94 19.2] 74.8
804 |FEME fB— ;] 45 49 94/ 19.2/ 74.8
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B4z B 42 e OUT | IN |GROSS| HDCP | NET
81f =g =& Yot 51 49 100/ 25.2] 74.8
82 5% E#t E—XY IR 40 42 82 7.2/ 74.8
836L /NI —4 A4 56 55| 111] 36.0/ 75.0
8AGL Ak Fth — gk 46 47 93| 18.0/ 75.0
856L =L ABA FAEEIL 40 46 86/ 10.8/ 75.2
866 |EM & ot 48 44 92| 16.8/ 75.2
87 HBE IFIE = E 49 49 98 22.8 75.2
884 EA Ot IYTA 43 61/ 104 28.8 75.2
89 | EE &FE Yot 48 43 91/ 15.6/ 75.4
04 FZH/E B= FAEEI 42 43 85| 9.6/ 75.4
91z EX BEX = E 42 43 85/ 9.6/ 75.4
9241 B8 RE = E 4 44 85/ 9.6/ 75.4
93z U —& LE 42 49 91 15.6/ 75.4
U6 BAXR Hi =E 43 4 84 8.4 75.6
956 ApEk IFBA =E 50 46 96/ 20.4/ 75.6
964z O E=E Zjmllgk 45 51 96| 20.4/ 75.6
97 R £EX EDi# 38 40 78 2.4/ 75.6
98 BRE BiE AA—=7 43 46 89 13.2/ 75.8
99 HE {EAE LE 48 47 95 19.2/ 75.8
1004z | £F & EDi# 46 43 89| 13.2/ 75.8
1014 |88 ®HE Zjmllgk 55 52 107/ 31.2] 75.8
10261 | =8F (BEE Zin]lgk 49 46 95 19.2/ 75.8
1032 AL ®E Yt 52 42 94/ 18.0/ 76.0
10461 AR HXE AA—=7 47 4 88 12.0/ 76.0
1054 |;AT4@ AR AA—=7 43 39 82/ 6.0 76.0
1064 |3RFH H KSP 4 47 88/ 12.0/ 76.0
10741 |HSF FKE E—XYTHUR 42 40 82 6.0 76.0
10847 |FREH  FJE AA—=7 45 43 88 12.0/ 76.0
1094z | EH #E8H = ATige 44 50 94/ 18.0/ 76.0
106 &BAR IEfE E—XYTHUR 45 43 88 12.0/ 76.0
N | X% FF EDH 45 61/ 106/ 30.0/ 76.0
11247 Gk ZEH KSP 47 40 87/ 10.8] 76.2
N34 |pE F= Yot 47 52 99 22.8 76.2
1441 R £ Yt 50 49 99| 22.8/ 76.2
1154 18R  {8— s 42 45 87/ 10.8] 76.2
11647 EHE X = E 42 45 87/ 10.8] 76.2
11761 |FA B AA—=7 44 42 86 9.6/ 76.4
11847 st ¢ = E 44 42 86 9.6/ 76.4
N9 £ FX J1)—2Pb4 53 51 104] 27.6/ 76.4
1204 |37 & DYTA 40 58 98 21.6/ 76.4
P-2

IE4sz Bty & g OUT | IN | GROSS| HDCP | NET
12141 /88 2 fit A 46 52 98 21.6/ 76.4
122451 B 4648 ED# 43 49 92 15.6/ 76.4
12341 |BRE =EB A4 YL 44 41 85/ 8.4 76.6
12441 | AR 35 KSP 49 48 97| 20.4/ 76.6
1254 | $H  BERR KSP 49 48 97| 20.4/ 76.6
1264 £ HEHA Yot 47 50 97/ 20.4 76.6
1274 | EA & Y+ 45 52 97| 20.4/ 76.6
12847 |#%  EXER IYTA 42 43 85/ 8.4 76.6
12961 R Z= Yot 47 49 96/ 19.2 76.8
1306 | S ZEX KSP 49 41 90/ 13.2/ 76.8
1314 FrE HBIE KSP 45 45 90/ 13.2/ 76.8
1324 | K& st ATk 51 50, 101 24.0/ 77.0
13341 KHF iEH] AA—7 45 44 89 12.0 77.0
13441 ¥R 8h FEEEIL 49 46 95| 18.0/ 77.0
1354 #B/R 1T Yot 51 44 95 18.0/ 77.0
13647 |ERE 15 mEEIL 42 40 82 4.8 71.2
1374 |y B= ARA—7 50 50 1000 22.8/ 77.2
1384 |SFEJII FF#0 =E 42 40 82 4.8 71.2
1396 &4 T& LE 50 62| 112] 34.8 77.2
14041 S78 &M A4y 46 47 93 15.6/ 77.4
1414z | =€ {EA p| 3 45 4 86/ 8.4/ 71.6
142451 @ FE J1)—2Pb4 47 51 98/ 20.4 77.6
14361 B BN p| 3 52 520 104 26.4/ 77.6
14441 | FLEH IEFR p| 3 52 44 96/ 18.0/ 78.0
1454z | BB & ARA—=7 53 60 113] 34.8/ 78.2
14641 kA Ba ] 55 58/ 113] 34.8 78.2
14741 AR {EH ARA—=7 44 45 89 10.8 78.2
14841 |Hm  #FHIF ool 47 42 89 10.8 78.2
14941 R E|EX Yot 48 46 94 15.6/ 78.4
1504 | FEF A EDH 52 42 94 15.6/ 78.4
1514 \@TE 3 FEEEIL 45 48 93| 14.4/ 78.6
15241 i ERAS ik 52 53 105| 26.4/ 78.6
15341 |klich &E— ool 48 45 93 14.4/ 78.6
15441 3 K =E 48 51 99 20.4 78.6
15547 |{4iR B LE 47 46 93 14.4/ 78.6
15641 | KH &% DYTA 51 54/ 105] 26.4/ 78.6
1574 /NE B KSP 52 46 98/ 19.2/ 78.8
1584 MR 1A =E 49 43 92 13.2] 78.8
1594 Fal H— ;] 46 46 92| 13.2/ 78.8
16062 |FAR EE LE 48 44 92 13.2] 78.8
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Bz BELy A e OUT | IN |GROSS| HDCP | NET
161462 BEAR XE&i EDH 51 47 98| 19.2/ 78.8
16242 15k F =8B KSP 52 45 97/ 18.0/ 79.0
163 —f #A —jmllgk 53 55/ 108 28.8/ 79.2
16442 AH B AAL—=T 46 49 95 15.6/ 79.4
1654 | Bk &N ENH 46 55/ 101] 21.6/ 79.4
1664 MH FE— ot 58 53 111] 31.2] 79.8
16742 ILF  23BH Yo+ 55 50/  105| 25.2| 79.8
168 RE E& LE 49 44 93| 13.2/ 79.8
1694 | FEAXR Bk mEEIL 50 48 98 18.0/ 80.0
17041 | AH & A4 YL 45 47 92 12.0/ 80.0
17461 A BE AA—7 55 48 103 22.8 80.2
1724 | LA Bk = E 50 47 97 16.8 80.2
17361 A #a AA—=7 51 57/ 108 27.6/ 80.4
174461 L0 1y = E 46 54/ 100/ 19.2| 80.8
175451 |#BRI S =E 54 50/ 104 22.8 81.2
17642 BEO i=A 54 52 106/ 24.0/ 82.0
1761 | X% BEE mEEIL 54 45 99 16.8 82.2
1784z #gH 5ABR AA—=7 49 49 98 15.6 82.4
1794 | REE X LE 52 55| 107| 24.0/ 83.0
1804z HIE X EDH 61 59/ 120/ 36.0/ 84.0
1814 HAL EH Yt 54 45 99| 14.4/ 84.6
1824 |TEM %4 A4 YL 49 56/ 105/ 20.4| 84.6
18361 | FA A Yot 50 54/ 104 19.2] 84.8
1844 & IEFD =7 57 52 109/ 24.0/ 85.0
18547 | FhjM  BER Zin]lgk 62 68/ 130/ 36.0/ 94.0
N R ®E BB J1)—2Pb4 00 0.0 0.0
N R ®H S DYTA 0 0.0l 0.0
P-3
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